AVENTICS C12P R HIFI+ TS

AVENTICS™  AVENTICS C12P R B hI 54T é
EMERSON.



AVENTICS C12P RN F=H 2
2024-03-26

C12P% 5%
LZRY C12P RIE—HBFE CNOMO NFE 49-001 #r/EMSE , Al e aMARM SR,

FFFSRELCNOMO NFE 49-001
54 NFE 49-001

@25 ...200 mm

B AITE : 2300 mm

IR E H 448

ik FEEE , WA

EMERSON.



AVENTICS C12P RN F=H 3
2024-03-26

FIHFSEL, CNOMO NFE 49-001, &% C12P

CNOMO / NFE 49-001
W T R BT SURL
Tub¥ritE

B

Pist bez magnetu
&

MR

MRS

WA

AL

S HitEAHET  TEEFIRG Fh FELEF iz 3h
HEED HEED

[N] [N]

25 25 G1/8 R Pist bez M10x1,5| #RETLBS 238 309 7472021375
magnetu A EIR

25 50 G1/8 HE Pist bez M10x1,5| #RAETLES 238 309 7471323938
magnetu A EFR

25 75 G 1/8 HE Pist bez M10x1,5| #RETALFG 238 309 7471326291
magnetu A FE|ER

25 100 G 1/8 R Pist bez M10x1,5| #RAETLFA 238 309 7472021306
magnetu AFEEFR

25 125 G1/8 R Pist bez M10x1,5| #RAETLES 238 309 7472021423
magnetu AEFR

25 150 G 1/8 HE Pist bez M10x1,5| #RETLFG 238 309 7471325225
magnetu A E|FR

25 200 G 1/8 HE Pist bez M10x1,5| #rETLBS 238 309 7472021307
magnetu A ER

25 250 G1/8 HE Pist bez M10x1,5| #RETLBS 238 309 7472021425
magnetu A EIR

25 300 G 1/8 R Pist bez M10x1,5| #RAETLES 238 309 7472410994
magnetu A E|FR

25 350 G 1/8 g Pist bez M10x1,5| #rETALBS 238 309 7472021270
magnetu A FE|ER

25 400 G1/8 HE Pist bez M10x1,5| #RETLBS 238 309 7472401648
magnetu A EIR

25 500 G1/8 HE Pist bez M10x1,5| #RAETLES 238 309 7472415190
magnetu A EFR

32 25 G 1/8 HE Pist bez M10x1,5| #RETALFG 435 507 7472022357
magnetu A FE|ER

32 50 G1/8 & Pist bez M10x1,5 | FRET PR 435 507 7472407255
magnetu A FEER

32 75 G1/8 R Pist bez M10x1,5| #RAETLES 435 507 7471323019
magnetu AEFR

32 100 G1/8 HE Pist bez M10x1,5| #RETALFG 435 507 7472022359
magnetu A FE|FR

32 125 G 1/8 g Pist bez M10x1,5| #rETLBS 435 507 7472415023
magnetu A ER

EMERSON.



AVENTICS C12P RN F=H 4
2024-03-26

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

32 150 G 1/8 R Pist bez M10x1,5| #rETL G 435 507 7472020278
magnetu AFH|ER

32 200 G1/8 HE Pist bez M10x1,5| #RAETLFA 435 507 7472406069
magnetu A EER

32 250 G1/8 HE Pist bez M10x1,5| #RAETLES 435 507 7472408135
magnetu A EFR

32 300 G1/8 HE Pist bez M10x1,5| #RETALFG 435 507 7472407872
magnetu A FE|FR

32 350 G 1/8 HE Pist bez M10x1,5| #RAETLPS 435 507 7472415302
magnetu A EFR

32 500 G1/8 HE Pist bez M10x1,5| #RETILBs 435 507 7471323208
magnetu AEFR

40 25 G 1/4 HE Pist bez M16x1,5| #RET ARG 600 792 7472406622
magnetu AE|FR

40 50 G 1/4 & Pist bez M16x1,5| #rETLBS 600 792 7471323782
magnetu ADER

40 75 G 1/4 HE Pist bez M16x1,5| #RETILBS 600 792 7471323635
magnetu A EIR

40 100 G1/4 R Pist bez M16x1,5| #RAETLES 600 792 7471323351
magnetu A E|FR

40 125 G 1/4 HE Pist bez M16x1,5| #rET ARG 600 792 R422701702
magnetu AFH|ER

40 150 G 1/4 HE Pist bez M16x1,5| #RAETILEA 600 792 7472406392
magnetu A EFR

40 200 G1/4 HE Pist bez M16x1,5| #RAETILES 600 792 7471327025
magnetu A EFR

40 250 G 1/4 HE Pist bez M16x1,5| #RETALFG 600 792 7472408589
magnetu A FH|ER

40 300 G 1/4 HE Pist bez M16x1,5| #RAETILPS 600 792 7471323634
magnetu A EFR

40 350 G 1/4 R Pist bez M16x1,5| #RAETILES 600 792 7472411100
magnetu AEFR

40 400 G 1/4 HE Pist bez M16x1,5| #RET ARG 600 792 7472407010
magnetu A FE|FR

40 450 G 1/4 HE Pist bez M16x1,5| #rETLBS 600 792 7471324059
magnetu ADER

40 500 G 1/4 HE Pist bez M16x1,5| #RETILBS 600 792 7472409157
magnetu A EIR

50 25 G 1/4 HE Pist bez M16x1,5| #RAETLES 1077 1237 7472409225
magnetu A EFR

50 50 G 1/4 HE Pist bez M16x1,5| #rET ARG 1077 1237 7472022353
magnetu AFH|ER

50 75 G 1/4 HE Pist bez M16x1,5| #RAETILEA 1077 1237 7471314844
magnetu AEFR

50 80 G1/4 HE Pist bez M16x1,5| #RAETLES 1077 1237 7472410143
magnetu A EFR

50 100 G 1/4 HE Pist bez M16x1,5| #RETALFG 1077 1237 7471325013
magnetu A FH|FR

50 125 G 1/4 HE Pist bez M16x1,5| #RAETILPS 1077 1237 7472406738
magnetu A EFR

EMERSON.



AVENTICS C12P RN F=H 5
2024-03-26

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

50 150 G 1/4 R Pist bez M16x1,5| #RET ARG 1077 1237 7472020771
magnetu AFH|ER

50 200 G 1/4 HE Pist bez M16x1,5| #RAETILEA 1077 1237 7472406297
magnetu A EER

50 250 G1/4 HE Pist bez M16x1,5| #RAETLES 1077 1237 7472406739
magnetu A EFR

50 300 G 1/4 HE Pist bez M16x1,5| #RET ARG 1077 1237 7472410346
magnetu A FE|FR

50 350 G 1/4 iz Pist bez M16x1,5| #RAETLFS 1077 1237 R422701688
magnetu A EFR

50 400 G 1/4 HE Pist bez M16x1,5| #RAETILES 1077 1237 7472409603
magnetu AEFR

50 500 G 1/4 HE Pist bez M16x1,5| #RET ARG 1077 1237 7472409483
magnetu AE|FR

63 25 G 3/8 HE Pist bez M20x1,5| #rETLBS 1724 1964 R422700862
magnetu ADER

63 50 G 3/8 HE Pist bez M20x1,5 | #RETLBS 1724 1964 7472408333
magnetu A EIR

63 75 G 3/8 R Pist bez M20x1,5| #RAETLBS 1724 1964 7471323636
magnetu A E|FR

63 80 G 3/8 HE Pist bez M20x1,5| #rETLFG 1724 1964 7471325687
magnetu AFH|ER

63 100 G 3/8 HE Pist bez M20x1,5| #RAETLBA 1724 1964 7471323565
magnetu A EFR

63 125 G 3/8 HE Pist bez M20x1,5| #RAETLBS 1724 1964 7471323564
magnetu A EFR

63 150 G 3/8 HE Pist bez M20x1,5 | #RETALFG 1724 1964 7472405191
magnetu A FH|ER

63 200 G3/8 e Pist bez M20x1,5 | FRET AP 1724 1964 7471317716
magnetu A EFR

63 250 G 3/8 R Pist bez M20x1,5| #RAETLBA 1724 1964 7471324119
magnetu AEFR

63 300 G 3/8 HE Pist bez M20x1,5 | #RETALFG 1724 1964 7472409996
magnetu A FE|FR

63 400 G 3/8 HE Pist bez M20x1,5 | #rfETLBS 1724 1964 7472409320
magnetu ADER

63 500 G 3/8 HE Pist bez M20x1,5 | #RETILBS 1724 1964 R422702553
magnetu A EIR

80 25 G 3/8 HE Pist bez M20x1,5| #RAETLES 2927 3167 R422702161
magnetu A EFR

80 50 G 3/8 HE Pist bez M20x1,5| #rETLFG 2927 3167 7472407308
magnetu AFH|ER

80 75 G 3/8 HE Pist bez M20x1,5| #RAETLBA 2927 3167 7472413875
magnetu AEFR

80 80 G 3/8 HE Pist bez M20x1,5| #RAETLBS 2927 3167 R422702930
magnetu A EFR

80 100 G 3/8 HE Pist bez M20x1,5 | #RETALFG 2927 3167 R422711132
magnetu A FH|FR

80 125 G 3/8 HE Pist bez M20x1,5| #RAETLFS 2927 3167 R422701689
magnetu A EFR

EMERSON.



AVENTICS C12P RN F=H 6
2024-03-26

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

80 150 G 3/8 R Pist bez M20x1,5| #rETLFG 2927 3167 7472407112
magnetu AFH|ER

80 200 G 3/8 HE Pist bez M20x1,5| #RAETLBA 2927 3167 7471325322
magnetu A EER

80 250 G 3/8 HE Pist bez M20x1,5| #RAETLES 2927 3167 7472406380
magnetu A EFR

80 300 G 3/8 HE Pist bez M20x1,5 | #RETALFG 2927 3167 R422710660
magnetu A FE|FR

80 350 G 3/8 HE Pist bez M20x1,5| #RAETLPA 2927 3167 7472408586
magnetu A EFR

80 400 G 3/8 HE Pist bez M20x1,5| #RAETLBA 2927 3167 7472407310
magnetu AEFR

80 450 G 3/8 HE Pist bez M20x1,5 | #RETALFG 2927 3167 R422702463
magnetu AE|FR

100 25 G1/2 HE Pist bez M27x2 | FRAET LB 4503 4948 7472407578
magnetu ADER

100 50 G1/2 HE Pist bez M27x2 | FRAET LB 4503 4948 7472406603
magnetu A EIR

100 75 G1/2 R Pist bez M27x2 | FRAETLBA 4503 4948 7471322980
magnetu A E|FR

100 80 G1/2 HE Pist bez M27x2 | FRAET LR 4503 4948 R422706127
magnetu AFH|ER

100 100 G1/2 HE Pist bez M27x2 | FRAET LB 4503 4948 7472406081
magnetu A EFR

100 125 G1/2 HE Pist bez M27x2 | FRAETALBA 4503 4948 7471323871
magnetu A EFR

100 150 G1/2 HE Pist bez M27x2 | FRAET RS 4503 4948 7472406273
magnetu A FH|ER

100 200 G1/2 HE Pist bez M27x2 | FRAET LB 4503 4948 7472407023
magnetu A EFR

100 250 G1/2 R Pist bez M27x2 | FRAETI LB 4503 4948 7471325321
magnetu AEFR

100 300 G1/2 HE Pist bez M27x2 | FRAET RS 4503 4948 7472025400
magnetu A FE|FR

100 350 G1/2 HE Pist bez M27x2 | FRAET LB 4503 4948 7471323563
magnetu ADER

100 400 G1/2 HE Pist bez M27x2 | FRAET LB 4503 4948 7472406082
magnetu A EIR

100 450 G1/2 HE Pist bez M27x2 | FRAETLBA 4503 4948 7472022334
magnetu A EFR

100 500 G1/2 HE Pist bez M27x2 | FRAET AR 4503 4948 7471326316
magnetu AFH|ER

125 25 G1/2 HE Pist bez M27x2 | FRAETALBA 7286 7731 R422709969
magnetu AEFR

125 50 G1/2 HE Pist bez M27x2 | FRAETALBA 7286 7731 7472408335
magnetu A EFR

125 75 G1/2 HE Pist bez M27x2 | FRAET RS 7286 7731 7471325478
magnetu A FH|FR

125 80 G1/2 e Pist bez M27x2 | FRETALBS 7286 7731 7472409363
magnetu A EFR

EMERSON.



AVENTICS C12P RN F=H 7
2024-03-26

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

125 100 G1/2 R Pist bez M27x2 | FRAET AR 7286 7731 7472023817
magnetu AFH|ER

125 125 G1/2 HE Pist bez M27x2 | FRAETALBA 7286 7731 7471323873
magnetu A EER

125 150 G1/2 HE Pist bez M27x2 | FRAETALBA 7286 7731 7471325104
magnetu A EFR

125 200 G1/2 HE Pist bez M27x2 | FRAET RS 7286 7731 R422705433
magnetu A FE|FR

125 250 G1/2 HE Pist bez M27x2 | FRAETALPA 7286 7731 7471323026
magnetu A EFR

125 300 G1/2 HE Pist bez M27x2 | FRAETALBA 7286 7731 7472406294
magnetu AEFR

125 350 G1/2 HE Pist bez M27x2 | FRAET RS 7286 7731 7472410120
magnetu AE|FR

125 400 G1/2 HE Pist bez M27x2 | FRAET LB 7286 7731 R422703534
magnetu ADER

125 450 G1/2 HE Pist bez M27x2 | FRAET LB 7286 7731 7472408587
magnetu A EIR

125 500 G1/2 R Pist bez M27x2 | FRAETLBA 7286 7731 7471323826
magnetu A E|FR

160 50 G 3/4 HE Pist bez M36x2 | FRAET LR 11875 12667 7472408336
magnetu AFH|ER

160 75 G 3/4 HE Pist bez M36x2 | FRAET LB 11875 12667 7472406019
magnetu A EFR

160 100 G 3/4 HE Pist bez M36x2 | FRAETALBA 11875 12667 7472408334
magnetu A EFR

160 125 G 3/4 HE Pist bez M36x2 | FRAET AR 11875 12667 7471323872
magnetu A FH|ER

160 150 G 3/4 e Pist bez M36x2 | FRETALF 11875 12667 7472407361
magnetu A EFR

160 200 G 3/4 R Pist bez M36x2 | FRAETALBA 11875 12667 R422705841
magnetu AEFR

160 250 G 3/4 HE Pist bez M36x2 | FRAET RS 11875 12667 7471315415
magnetu A FE|FR

160 300 G 3/4 HE Pist bez M36x2 | FRAET LR 11875 12667 7472411971
magnetu ADER

160 400 G 3/4 HE Pist bez M36x2 | FRAET LB 11875 12667 R422705879
magnetu A EIR

160 500 G 3/4 HE Pist bez M36x2 | HRAETLBA 11875 12667 7472414254
magnetu A EFR

200 50 G 3/4 HE Pist bez M36x2 | FRAET LR 19000 19792 7472408337
magnetu AFH|ER

200 75 G 3/4 HE Pist bez M36x2 | FRAET LB 19000 19792 7471326900
magnetu AEFR

200 100 G 3/4 HE Pist bez M36x2 | FRAETALBA 19000 19792 7472408338
magnetu A EFR

200 125 G 3/4 HE Pist bez M36x2 | FRAET AR 19000 19792 7472020636
magnetu A FH|FR

200 150 G 3/4 HE Pist bez M36x2 | FRAET LB 19000 19792 7471305476
magnetu A EFR

EMERSON.



AVENTICS C12P RN F=H 8
2024-03-26

o HEEHE]  TREMRG PN R EE 3

HISEE D
[N]
200 200 G 3/4 HE Pist bez M36x2 | FRAET LR 19000 19792 7472408625
magnetu AFH|ER
200 400 G 3/4 HE Pist bez M36x2 | FRAET LB 19000 19792 7472023503
magnetu A EER
200 500 G 3/4 HE Pist bez M36x2 | FRAETALBA 19000 19792 7472406281
magnetu A EFR
%
BB E
K BB TG
< & |
Q)Q’ N
#/SW (2Flats) — :
& KV } ************ B —— : | r
' a
E : ¢ HO)- 2~
) >
s < — -
s & |kw
S
PL
¥
ZJ1+S
1) BIRIRET
S=1718
EE-0 AM BB JdBe9 @ DD E I EE K @ KK KV KW
25 20 17 25 M6 40 G1/8 6 M10x1,5 17 5
32 20 17 25 M6 45 G1/8 6 M10x1,5 17 5
40 36 17 32 M6 52 G1/4 8 M16x1,5 24 8
50 36 23 32 M8 65 G1/4 8 M16x1,5 24 8
63 46 23 45 M8 75 G3/8 10 M20x1,5 30 10
80 46 28 45 M10 95 G3/8 10 M20x1,5 30 10
100 63 28 55 M10 115 G1/2 16 M27x2 41 13,5
125 63 34 55 M12 140 G1/2 16 M27x2 41 13,5
160 85 42 65 M16 180 G3/4 16 M36x2 55 18
200 85 42 65 M16 220 G3/4 16 M36x2 55 18
EE-0 @ MM PL SW TG \% VD WH Y ZJ1
25 12 9 8 28 - 15 25 44 105
32 12 9 8 33 - 15 25 44 105
40 18 12 13 40 3 15 34 65 144
50 18 12 13 49 3 15 34 65 144
63 22 14 17 59 5 20 39 71 164
80 22 14 17 75 9 20 39 71 164
100 30 18 22 90 - 20 47 84 192
125 30 18 22 110 - 20 47 84 192
160 40 35 32 140 - 20* 80 115 260
200 40 35 32 175 - 20* 80 115 260

Q

&

EMERSON.



AVENTICS C12P RN F=H 9
2024-03-26

* Rttt CNOMO NFE 49-001 % 5 mm

EMERSON.



AVENTICS C12P RN F=H 10
2024-03-26

FIHFSEL, CNOMO NFE 49-001, &% C12P

CNOMO / NFE 49-001
W A RLAT AL
Tl

B

EEWRL

iz

SRS

PR

REAR

S REEHE]  TEREMTRY N FEIE3 fH iz 3h
HEED HEED

[N] [N]

32 25 G1/8 HE TEETHH M10x1,5 | FRHETALBS 435 507 7472404382
AFHER

32 50 G1/8 & SEEWH M10x1,5 | FRAETALRS 435 507 7472020373
A FH|FR

32 75 G1/8 HE TEEWH M10x1,5 | #RAETALRS 435 507 7472011002
AFH|EFR

32 80 G1/8 HE TEETH M10x1,5 | FRETALBA 435 507 7471318835
AFHER

32 100 G1/8 e SEEWH M10x1,5| FRAET RS 435 507 7472023181
ADFEER

32 125 G1/8 & EEE W M10x1,5 | #RAETALRS 435 507 7472408151
AFHER

32 150 G1/8 HE SEETHHL M10x1,5 | FRETALBS 435 507 R422702876
AFHER

32 200 G1/8 e SEEWH M10x1,5 | FREET RS 435 507 R422701368
AFEER

32 300 G1/8 e SEEWH M10x1,5 | FRAETALRS 435 507 7471312499
AFH|EFR

32 350 G1/8 & TR M10x1,5 | #RAETALRS 435 507 7471314851
AFH|ER

32 400 G 1/8 HE TEETHL M10x1,5 | FRHETALBS 435 507 7471313425
AFHER

40 25 G 1/4 HE SEEWH M16x1,5 | FRAETALRS 600 792 7472414609
A FH|FR

40 50 G 1/4 HE TEEWH M16x1,5 | FRAETALRS 600 792 7471322877
AFH|EFR

40 75 G 1/4 HE TEEWH, M16x1,5 | FRETALBA 600 792 7472012002
AFHER

40 80 G 1/4 HRE SEEWH M16x1,5| FRAET RS 600 792 R422702911
ADFEER

40 100 G 1/4 & EEE W M16x1,5 | FRAETALRS 600 792 7471321388
AFHER

40 125 G 1/4 HE SEETHHL M16x1,5 | FRET RS 600 792 7471315903
AFHER

40 150 G 1/4 e SEEWH M16x1,5 | FRAET RS 600 792 7472408158
AFEER

EMERSON.



AVENTICS C12P RN F=H 11
2024-03-26

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

40 200 G 1/4 HE L M16x1,5 | FrRET RS 600 792 7471318717
AFH|ER

40 250 G 1/4 HE SEEWH M16x1,5| FRAET RS 600 792 R422702877
ADEER

40 300 G 1/4 & SEEWH M16x1,5 | FRAETALRS 600 792 7471326645
AFH|ER

40 350 G 1/4 HE TEETHH M16x1,5 | FrRET RS 600 792 7471326094
AFH|ER

40 400 G 1/4 HE SEEWH M16x1,5| FRAET RS 600 792 7472408161
AFEER

40 450 G 1/4 & EEE W M16x1,5 | FRAETALRS 600 792 7472403842
A FH|ER

40 500 G 1/4 HE TEEWH M16x1,5 | #RAETALRS 600 792 7471320525
AFH|ER

50 25 G 1/4 HE EE M16x1,5 | FRETALBS 1077 1237 7472408174
AEER

50 50 G 1/4 & SEEWH M16x1,5 | FRfETALBA 1077 1237 7471310407
AFH|ER

50 75 G 1/4 & TEEWH M16x1,5 | FRAETALRS 1077 1237 7472013002
AFH|ER

50 80 G 1/4 HE TEETHH M16x1,5 | FrRETALBS 1077 1237 7471311603
AFH|ER

50 100 G 1/4 HEE SEEWH M16x1,5| FRAET RS 1077 1237 7471313232
ADEER

50 125 G 1/4 & SEEW M16x1,5 | FRAETALRS 1077 1237 7472020079
AFH|ER

50 150 G 1/4 HE TEETHH M16x1,5 | FrRETALBA 1077 1237 7471315002
AFH|ER

50 200 G 1/4 RE SEEWH M16x1,5| FRAET RS 1077 1237 R422701344
AFEER

50 250 G 1/4 & EEE W M16x1,5 | FRAETALRS 1077 1237 7472408176
AFHER

50 300 G 1/4 & TEEWH M16x1,5 | #RAETALRS 1077 1237 R422702811
AFH|ER

50 350 G 1/4 HE TEETH M16x1,5 | FRETALBS 1077 1237 7471319643
AEER

50 400 G 1/4 HE SEEWH M16x1,5 | FRAETALRS 1077 1237 7472408179
A FH|ER

50 450 G 1/4 & TEEWH M16x1,5 | FRAETALRS 1077 1237 7472404259
AFH|ER

50 500 G 1/4 HE TEETHH M16x1,5 | FrRETALBS 1077 1237 7472411255
AFH|ER

63 25 G 3/8 e SEEWH M20x1,5| #RAET RS 1724 1964 R422702945
ADFEER

63 50 G 3/8 & SEEWH M20x1,5 | #RAETALRS 1724 1964 7471315000
AFH|ER

63 75 G 3/8 HE TEETHH M20x1,5 | FRETALBA 1724 1964 7472014002
AFH|ER

63 80 G 3/8 e SEEWH M20x1,5| #RAET RS 1724 1964 R422705004
AFEER

EMERSON.



AVENTICS C12P RN F=H 12
2024-03-26

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

63 100 G 3/8 HE L M20x1,5 | FRET RS 1724 1964 7472407475
AFH|ER

63 150 G 3/8 & SEEWH M20x1,5| #RAET RS 1724 1964 7472408187
ADEER

63 200 G 3/8 & SEEWH M20x1,5 | #RAETALRS 1724 1964 7471318262
AFH|ER

63 300 G 3/8 HE TEETHH M20x1,5 | FrETALBA 1724 1964 7472414341
AFH|ER

63 350 G3/8 iz SRETR M20x1,5| #RAETALRA 1724 1964 7472405557
A EFR

63 400 G 3/8 & EEE W M20x1,5 | #RAET RS 1724 1964 7472408189
A FH|ER

63 450 G 3/8 HE TEEWH M20x1,5 | #RAETALRS 1724 1964 7472404354
AFH|ER

63 500 G 3/8 HE EE M20x1,5 | FRAETALBS 1724 1964 R422703385
AEER

80 25 G 3/8 HE SEEWH M20x1,5 | #RfETALBA 2927 3167 7472408202
AFH|ER

80 50 G 3/8 & TEEWH M20x1,5 | #RAETALRS 2927 3167 7472408249
AFH|ER

80 75 G 3/8 HE TEETHH M20x1,5 | FRET RS 2927 3167 7472015001
AFH|ER

80 80 G 3/8 e SEEWH M20x1,5| #RAET RS 2927 3167 7472408200
ADEER

80 100 G 3/8 & SEEW M20x1,5 | #RAETALRS 2927 3167 7472408362
AFH|ER

80 125 G 3/8 HE TEETHH M20x1,5 | FRETALBA 2927 3167 7472415199
AFH|ER

80 150 G3/8 iz SRETR M20x1,5| #RAETALRA 2927 3167 7472406097
A EFR

80 200 G 3/8 & EEE W M20x1,5 | FRAETALRS 2927 3167 R422709529
AFHER

80 250 G 3/8 & TEEWH M20x1,5 | #RAETALRS 2927 3167 7471318287
AFH|ER

80 300 G 3/8 HE TEETH M20x1,5 | FRETALBS 2927 3167 7471314123
AEER

80 350 G 3/8 & SEEWH M20x1,5 | #RfETALBA 2927 3167 7472408196
A FH|ER

80 400 G 3/8 & TEEWH M20x1,5 | #RAETALRS 2927 3167 7471326646
AFH|ER

80 500 G 3/8 HE TEETHH M20x1,5 | FRET RS 2927 3167 7472407113
AFH|ER

100 25 G1/2 HEE SEEWH M27x2 | FRETALBS 4503 4948 7471316187
ADFEER

100 50 G1/2 & SEEWH M27x2 | FRET LB 4503 4948 7472408250
AFH|ER

100 75 G1/2 HE TEETHH M27x2 | FRETALBA 4503 4948 7472016000
AFH|ER

100 100 G1/2 RE SEEWH M27x2 | FRETALBS 4503 4948 7472408141
AFEER

EMERSON.



AVENTICS C12P RN F=H 13
2024-03-26

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

100 125 G1/2 HE L M27x2 | FRETALBA 4503 4948 R422701648
AFH|ER

100 200 G1/2 HE SEEWH M27x2 | FRETALBS 4503 4948 7471314208
ADEER

100 350 G1/2 & SEEWH M27x2 | FRET LB 4503 4948 7472415026
AFH|ER

100 450 G1/2 HE TEETHH M27x2 | FRETALBA 4503 4948 7472020146
AFH|ER

100 500 G1/2 HE SEEWH M27x2 | FRETALBS 4503 4948 R422709968
AFEER

125 25 G1/2 & EEE W M27x2 | FRET B 7286 7731 R422703160
A FH|ER

125 50 G1/2 HE TEEWH M27x2 | FRETALBA 7286 7731 7472408219
AFH|ER

125 75 G1/2 HE EE M27x2 | FRETALBS 7286 7731 7472017000
AEER

125 100 G1/2 HE SEEWH M27x2 | FRfETALBA 7286 7731 7471316303
AFH|ER

125 125 G1/2 & TEEWH M27x2 | FRET LBy 7286 7731 7472408214
AFH|ER

125 150 G1/2 HE TEETHH M27x2 | FRETALBA 7286 7731 R422709768
AFH|ER

125 200 G1/2 HEE SEEWH M27x2 | FRET R 7286 7731 7472408217
ADEER

125 300 G1/2 & SEEW M27x2 | FRET LB 7286 7731 7471314424
AFH|ER

125 350 G1/2 HE TEETHH M27x2 | FRETALBA 7286 7731 7472411257
AFH|ER

125 400 G1/2 RE SEEWH M27x2 | FRET B 7286 7731 7472408218
AFEER

125 500 G1/2 & EEE W M27x2 | FRET B 7286 7731 R422703390
AFHER

160 50 G 3/4 & TEEWH M36x2 | FrtET RS 11875 12667 7472408208
AFH|ER

160 75 G 3/4 HE TEETH M36x2 | FRETALBS 11875 12667 7472018014
AEER

160 100 G 3/4 HE SEEWH M36x2 | FRfETlBA 11875 12667 7472408363
A FH|ER

160 125 G 3/4 & TEEWH M36x2 | FRET LBy 11875 12667 7472411000
AFH|ER

160 150 G 3/4 HE TEETHH M36x2 | FRET RS 11875 12667 7472408207
AFH|ER

160 300 G 3/4 HEE SEEWH M36x2 | FRETLBA 11875 12667 7472408137
ADFEER

160 400 G 3/4 & SEEWH M36x2 | FRET LBy 11875 12667 7472406567
AFH|ER

160 500 G 3/4 HE TEETHH M36x2 | FrETLBA 11875 12667 7472408209
AFH|ER

200 50 G 3/4 RE SEEWH M36x2 | FRET RS 19000 19792 7472408361
AFEER

EMERSON.



AVENTICS C12P RN F=H 14
2024-03-26

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]
200 75 G 3/4 TRE EETH M36x2 | FRAETLBA 19000 19792 7472019014
DFER
200 100 G 3/4 iz EEWR M36x2 | FRAETALPA 19000 19792 7472408364
DFER
200 125 G 3/4 B SEEWH M36x2 | FRET LR 19000 19792 7472408203
A FIR
200 200 G 3/4 ThE EETH M36x2 | ARAETLBA 19000 19792 R422702875
DFER
200 300 G 3/4 ez EEWR M36x2 | FRAETALPA 19000 19792 7472409554
DFER
200 400 G 3/4 HE SEEWR M36x2 | FRETALBA 19000 19792 7472408205
A FIR
200 500 G 3/4 g SEEWH M36x2 | KRR 19000 19792 7472408206
DFER
pEk S
BB E
K o BB TG
& &
#/SW (2Flats) . 9 I , ‘
& KV ——H |l =3 - | :
R . I s
@ o
d ehmlEe ! o) ¢ -
- > } =
= — e ————— B — :
S 8§ kw S %E
S N\
AM VD) 1 1 PL
WH
Y
Z1+S
1) BRIRET
S=11#&
EE-0 AM BB @ Be9 @ DD E B EE K @ KK KV KW
32 20 17 25 M6 45 G1/8 6 M10x1,5 17 5
40 36 17 32 M6 52 G1/4 8 M16x1,5 24 8
50 36 23 32 M8 65 G1/4 8 M16x1,5 24 8
63 46 23 45 M8 75 G3/8 10 M20x1,5 30 10
80 46 28 45 M10 95 G3/8 10 M20x1,5 30 10
100 63 28 55 M10 115 G112 16 M27x2 41 135
125 63 34 55 M12 140 G112 16 M27x2 41 135
160 85 42 65 M16 180 G3/4 16 M36x2 55 18
200 85 42 65 M16 220 G3/4 16 M36x2 55 18
EE-0 @ MM PL sw TG v VD WH Y ZJ1
32 12 9 8 33 - 15 25 44 105
40 18 12 13 40 3 15 34 65 144
50 18 12 13 49 3 15 34 65 144
63 22 14 17 59 5 20 39 71 164
A

&

EMERSON.



AVENTICS C12P RN F=H

15
2024-03-26

EE-O 2 MM PL SW TG VD WH Y ZJ1
80 22 14 17 75 20 39 7 164
100 30 18 22 90 20 47 84 192
125 30 18 22 110 20 47 84 192
160 40 35 32 140 20* 80 115 260
200 40 35 32 175 20* 80 115 260

* Rttt CNOMO NFE 49-001 %8 5 mm

EMERSON.



AVENTICS C12P RN F=H 16
2024-03-26

FIHFSEL, CNOMO NFE 49-001, &% C12P

CNOMO / NFE 49-001
W A RLAT AL

Tl FRAE

MM

EEWRL

iz

SRS

PR

REAR

A % TR IR

=

S WiMEHET  TERETRY Frd Bl FELE3 Iz 3h
HEED HEED

[N] [N]

32 25 G1/8 e SEEH M10x1,5 | FRfETALBS 435 435 7472402181
A FH|ER

32 50 G1/8 HE TEEWH M10x1,5 | #RAETALRS 435 435 7472021550
AFH|EFR

32 75 G1/8 HE TEETHHL M10x1,5 | FRETALBA 435 435 7471317888
AFHER

32 80 G1/8 E SEEWH M10x1,5| FRAET RS 435 435 7472023405
ADEER

32 100 G1/8 & EEE W M10x1,5 | #RAETALRS 435 435 7471312799
AFHER

32 125 G1/8 HE - M10x1,5 | FRETALBS 435 435 R422702965
AFH|ER

32 200 G1/8 e SEEWH M10x1,5 | FRETALBS 435 435 R422710055
AFEER

32 250 G1/8 & SEEWH M10x1,5 | FRAETALRS 435 435 R422711629
AFH|ER

32 450 G1/8 HE TR M10x1,5 | #RAETALRS 435 435 7472020401
AFH|ER

40 25 G 1/4 HE EE M16x1,5 | FRAETABS 600 600 7472023529
AFHER

40 50 G 1/4 RE SEEH M16x1,5 | FRETALBS 600 600 7472022041
A FH|ER

40 75 G 1/4 HE TEEWH M16x1,5 | FRAETALRS 600 600 7472022042
AFH|EFR

40 80 G 1/4 HE TEEWH M16x1,5 | FrRETALBA 600 600 7472023994
AFH|ER

40 100 G 1/4 RE SEEWH M16x1,5| FRAET RS 600 600 7472022040
ADEER

40 150 G 1/4 & SEEW M16x1,5 | FRAETALRS 600 600 7471317115
AFH|EFR

40 200 G 1/4 HE - M16x1,5 | FRETALBS 600 600 7472025980
AFH|ER

40 300 G1/4 & SEEWH M16x1,5| FRAET RS 600 600 R422703040
ADEER

40 400 G 1/4 & SEEWH M16x1,5 | FRAETALRS 600 600 7471325091
AFH|ER

EMERSON.



AVENTICS C12P RN F=H 17
2024-03-26

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

50 25 G 1/4 HE L M16x1,5 | FrRET RS 1077 1077 R422703905
AFH|ER

50 50 G 1/4 & SEEWH M16x1,5| FRAET RS 1077 1077 7471324420
ADEER

50 75 G 1/4 & SEEWH M16x1,5 | FRAETALRS 1077 1077 7471310083
AFH|ER

50 100 G 1/4 HE TEETHH M16x1,5 | FrRET RS 1077 1077 7471317521
AFH|ER

50 125 G 1/4 iz SRETR M16x1,5| #RAETALRA 1077 1077 R422700407
A EFR

50 150 G 1/4 & EEE W M16x1,5 | FRAETALRS 1077 1077 7471324774
A FH|ER

50 200 G 1/4 HE TEEWH M16x1,5 | #RAETALRS 1077 1077 7471322385
AFH|ER

50 250 G 1/4 HE EE M16x1,5 | FRETALBS 1077 1077 7471320419
AEER

50 300 G 1/4 & SEEWH M16x1,5 | FRfETALBA 1077 1077 7471321031
AFH|ER

50 350 G 1/4 & TEEWH M16x1,5 | FRAETALRS 1077 1077 R422703927
AFH|ER

50 400 G 1/4 HE TEETHH M16x1,5 | FrRETALBS 1077 1077 7471318216
AFH|ER

50 500 G 1/4 e SEEWH M16x1,5| FRAET RS 1077 1077 R422709680
ADEER

63 50 G 1/4 & SEEW M16x1,5 | FRAETALRS 1724 1724 7471326289
AFH|ER

63 100 G 1/4 HE TEETHH M16x1,5 | FrRETALBA 1724 1724 7472023562
AFH|ER

63 125 G 1/4 iz SRETR M16x1,5| #RAETALRS 1724 1724 7471325319
A EFR

63 150 G 1/4 & EEE W M16x1,5 | FRAETALRS 1724 1724 7471321341
AFHER

63 200 G 1/4 & TEEWH M16x1,5 | #RAETALRS 1724 1724 7472023563
AFH|ER

63 400 G 1/4 HE TEETH M16x1,5 | FRETALBS 1724 1724 R422705208
AEER

63 450 G 1/4 HE SEEWH M16x1,5 | FRAETALRS 1724 1724 7471326742
A FH|ER

63 500 G 1/4 & TEEWH M16x1,5 | FRAETALRS 1724 1724 7471321871
AFH|ER

80 50 G 3/8 HE TEETHH M20x1,5 | FRET RS 2927 2927 7472406150
AFH|ER

80 150 G 3/8 e SEEWH M20x1,5| #RAET RS 2927 2927 7471317054
ADFEER

80 200 G 3/8 & SEEWH M20x1,5 | #RAETALRS 2927 2927 7471315154
AFH|ER

80 250 G 3/8 HE TEETHH M20x1,5 | FRETALBA 2927 2927 7471314450
AFH|ER

80 300 G3/8 iz SRETR M20x1,5| #RAETALRA 2927 2927 R422710174
A EFR

EMERSON.



AVENTICS C12P RN F=H 18
2024-03-26

o HEEHE]  TREMRG PN R EE 3 fH iz 3h
HEED HEED

[N] [N]

80 350 G 3/8 HE L M20x1,5 | FRET RS 2927 2927 7472414071
AFH|ER

80 400 G 3/8 & SEEWH M20x1,5| #RAET RS 2927 2927 7471323908
ADEER

80 500 G 3/8 & SEEWH M20x1,5 | #RAETALRS 2927 2927 7472024901
AFH|ER

100 50 G1/2 HE TEETHH M27x2 | FRETALBA 4503 4503 R422708943
AFH|ER

100 75 G1/2 HE SEEWH M27x2 | FRETALBS 4503 4503 7471324896
AFEER

100 100 G1/2 & EEE W M27x2 | FRET B 4503 4503 7471311782
A FH|ER

100 150 G1/2 HE TEEWH M27x2 | FRETALBA 4503 4503 7471323790
AFH|ER

100 200 G1/2 HE EE M27x2 | FRETALBS 4503 4503 7472022039
AEER

100 250 G1/2 HE SEEWH M27x2 | FRfETALBA 4503 4503 7471326059
AFH|ER

100 400 G1/2 & TEEWH M27x2 | FRET LBy 4503 4503 7472411264
AFH|ER

125 100 G1/2 HE TEETHH M27x2 | FRETALBA 7286 7286 7471326797
AFH|ER

125 150 G1/2 HEE SEEWH M27x2 | FRET R 7286 7286 7471326351
ADEER

125 200 G1/2 & SEEW M27x2 | FRET LB 7286 7286 7472020130
AFH|ER

125 250 G1/2 HE TEETHH M27x2 | FRETALBA 7286 7286 R422702924
AFH|ER

125 300 G1/2 RE SEEWH M27x2 | FRETALBS 7286 7286 7471313096
AFEER

160 50 G 3/4 & EEE W M36x2 | FRET B 11875 11875 R422715098
AFHER

160 100 G 3/4 & TEEWH M36x2 | FrtET RS 11875 11875 R422715099
AFH|ER

200 50 G 3/4 HE TEETH M36x2 | FRETALBS 19000 19000 R422715100
AEER

200 100 G 3/4 HE SEEWH M36x2 | FRfETlBA R422715101
A FH|ER

EMERSON.



AVENTICS C12P RN F=H 19

2024-03-26
Gk
BB
K
a
&/SW (2Flats) q)éo a
KV ey = M o
e C v
m '
Q | TS 7 ’’’’’’’’’’’’’’’’’’’
=15 | >
§ S| Kw H= ik\ **********
9 ® AM VD 1 VD
WH
Y
ZK1+S
ZM1 + 2xS
1) BRIRET
S=11#&
EE-0 Y BB @B e9 @ DD E @ EE K @ KK KV KW
32 20 17 25 M6 45 G1/8 6 M10x1,5 17 5
40 36 17 32 M6 52 G1/4 8 M16x1,5 24 8
50 36 23 32 M8 65 G1/4 8 M16x1,5 24 8
63 46 23 45 M8 75 G3/8 10 M20x1,5 30 10
80 46 28 45 M10 95 G3/8 10 M20x1,5 30 10
100 63 28 55 M10 15 G112 16 M27x2 41 135
125 63 34 55 M12 140 G112 16 M27x2 41 135
160 85 42 65 M16 180 G3/4 16 M36x2 55 18
200 85 42 65 M16 220 G3/4 16 M36x2 55 18
EE-0 @ MM PL SW TG v VD WH Y ZK1 ZM1
32 12 15 8 33 - 15 25 44 115 140
40 18 31 13 40 3 15 34 65 163 197
50 18 31 13 49 3 15 34 65 163 197
63 22 32 17 59 5 20 39 71 182 221
80 22 32 17 75 9 20 39 71 182 221
100 30 37 22 90 - 20 47 84 211 258
125 30 37 22 110 - 20 47 84 211 258
160 40 55 32 140 - 20 80 15 260 300
200 40 55 32 175 - 20 80 115 260 300

* R~F e CNOMO NFE 49-001 42 5 mm

EMERSON.



AVENTICS C12P RN F=H 20
2024-03-26

FIHFSEL, CNOMO NFE 49-001, &% C12P

CNOMO / NFE 49-001
W A RLAT AL
Tl
wHEEMTEHS
B

EEWRL

iz

SRS

PR
REAR

A % TR IR

S RMEEHE]  TEREMRY N FEIE 3 iz 3h
HEED HEED

[N] [N]

25 25 G 1/8 HE TEETHHL M10x1,5 | FRHETALBS 238 309 R422715102
AFHER

25 50 G1/8 HE SEEWH M10x1,5 | FRAETALRS 238 309 R422715103
A FH|FR

32 25 G1/8 HE TEEWH M10x1,5 | #RAETALRS 435 507 R422715104
AFH|EFR

32 50 G 1/8 HE L M10x1,5 | FRETALBA 435 507 R422715105
AFHER

40 25 G 1/4 HE SREWR M16x1,5| #RAETALRA 600 792 R422715106
A EFR

40 50 G 1/4 & EEE W M16x1,5 | FRAETALRS 600 792 R422715107
AFH|ER

50 25 G 1/4 HE SEETHHL M16x1,5 | FRETALBA 1077 1237 R422715108
AFHER

50 50 G 1/4 e SEEWH M16x1,5 | FRAETALRS 1077 1237 R422715109
AFEER

63 25 G 3/8 & SEEWH M20x1,5 | FRAETALRS 1724 1964 R422715110
AFH|EFR

63 50 G 3/8 HE TR M20x1,5 | #RAET kRS 1724 1964 R422715111
AFH|ER

80 50 G 3/8 HE TEETHHL M20x1,5 | FRETALBS 2927 3167 R422715112
AFHER

80 100 G 3/8 HE SEEWH M20x1,5 | FRAETALRS 2927 3167 R422715113
A FH|FR

100 50 G1/2 HE TEEWH M27x2 | FRET LB 4503 4948 R422715114
AFH|EFR

100 100 G1/2 HE L M27x2 | FRETALBA 4503 4948 R422715115
AFHER

125 50 G1/2 RE SEEWH M27x2 | FRET R 7286 7731 R422715116
ADFEER

125 100 G1/2 & EEE W M27x2 | FRET B 7286 7731 R422715117
AFHER

160 50 G 3/4 HE SEETHHL M36x2 | FrtET RS 11875 12667 R422715118
AFHER

EMERSON.



AVENTICS C12P RN F=H 21
2024-03-26

o HEEHE]  TREMRG PN R EE 3

HWER D
[N]
160 100 G3/4 HE| EEWH M36x2 | FRAETILE; 11875 12667 R422715119
A FHFR
200 50 G3/4 B EEWE M36x2 | FRAETILB; 19000 19792 R422715120
A EER
200 100 G3/4 B EEWH M36x2 | PR 19000 19792 R422715121
A FHFR
HAE
L
K Qmin 9CG
#/SW (2Flats) amex+s q><<5</ %“ |
& KV \ - w¢
A = ]
éL_ e [ = L ) = —1AY | o
“ — -y ( | > = © -
% g K|W IRV —E—— —r |
AM VD P
WH 1 E 1 PL T _%
Y P
ZJ1+8
ZJ2°+S
1) BURIRET
S =171
EE O AM @B e9 @cG CH cL E O EE K @ KK KV
25 20 25 12 42 22 40 G18 6 M10x1,5 17
32 20 25 12 50 15 45 G118 6 M10x1,5 17
40 36 32 16 63 20 52 G1/4 8 M16x1,5 24
50 36 32 16 73 20 65 G1/4 8 M16x1,5 24
63 46 45 20 9 25 75 G38 10 M20x1,5 30
80 46 45 20 108 25 95 G38 10 M20x1,5 30
100 63 55 25 131 30 115 G112 16 M27x2 41
125 63 55 25 160 32 140 G112 16 M27x2 41
160 85 65 32 200 50 180 G314 16 M36x2 55
200 85 65 32 250 50 220 G4 16 M36x2 55
EE- O KW 2 MM P pL Q&)  QEBA+S R s SwW TG
25 5 12 38 9 40 50 20 12 8 28
32 5 12 46 9 43 48 20 12 8 33
40 8 18 59 12 54 75 25 16 13 40
50 8 18 69 12 62 67 25 16 13 49
63 10 22 84 14 64 79 30 20 17 59
80 10 22 102 14 67 77 30 20 17 75
100 135 30 125 18 73 91 36 25 22 9
125 13.5 30 155 18 75 89 36 25 22 110
160 18 40 - 35 81 100 45 32 32 140

&

EMERSON.



AVENTICS C12P RN F=H 22
2024-03-26

Q&h QFEK+S

200 18 40 - 35 79 101 45 32 32 175

25 - 15 25 44 105 -
32 - 15 25 44 105 128
40 3 15 34 65 144 165
50 3 15 34 65 144 167
63 5 20 39 7 164 189
80 9 20 39 71 164 188
100 - 20 47 84 192 221
125 - 20 47 84 192 237
160 - 20* 80 115 260 272
200 - 20* 80 115 260 277

* R~Ft CNOMO NFE 49-001 4 5 mm

EMERSON.



AVENTICS C12P RN F=H 23
2024-03-26

AR, 25| AB7

CNOMO / NFE 49-001

AL
25, 32 10 CNOMO / NFE 49-001 ispy) R422003602
40, 50 10 CNOMO / NFE 49-001 s34t R422003603
63, 80 10 CNOMO / NFE 49-001 i=py) R422003604
100, 125 10 CNOMO / NFE 49-001 a4 R422003605
160, 200 10 CNOMO / NFE 49-001 84 R422003606
g
BQ
| e
S| o—
W11 1 N j \
| ;
} =
aaniinass [ Sn A T
‘ Q I__|>
s | . BG _
N H
o
EE-0 L/ E o=y =]€] BQ G H9 H | L M N (@]
25, 32 R422003602 20 20 8 37 18 8 32 25 41
40, 50 R422003603 32 32 12 54 25 10 45 32 52
63, 80 R422003604 50 50 16 75 32 13 63 40 63
100, 125 R422003605 70 70 20 103 40 17 90 50 80
160, 200 R422003606 110 110 25 154 50 20 140 63 111
EE-0 QH13 R &K S
25, 32 7 19.5 9
40, 50 9 26 14
63, 80 1 32 14

Q

&

EMERSON.



AVENTICS C12P RN F=H

24
2024-03-26

EE-O QH13 R &K S
100, 125 14 42 22
160, 200 18 54 26

EMERSON.



AVENTICS C12P RN F=H 25
2024-03-26

U L%EH MP2, &% CM1
CNOMO / NFE 49-001

:314
25 8 CNOMO / NFE 49-001 |t 1827005910
32 8 CNOMO / NFE 49-001 a¥ 1827005911
40 12 CNOMO / NFE 49-001 L= 1827005912
50 12 CNOMO / NFE 49-001 L= 1827005913
63 16 CNOMO / NFE 49-001 BM 1827005914
80 16 CNOMO / NFE 49-001 L= 1827005915
100 20 CNOMO / NFE 49-001 L= 1827005916
125 20 CNOMO / NFE 49-001 =) 1827005917
160 25 CNOMO / NFE 49-001 aM 7472771428
200 25 CNOMO / NFE 49-001 L= 7472771429

e
EE-0 MES CM H14 D H13 G H9 M L R S TG z

25 1827005910 26 7 8 8 40 8 25 28 18

32 1827005911 26 7 8 8 45 8 25 33 18

40 1827005912 33 7 12 8 52 12 32 40 24

50 1827005913 33 9 12 10 65 12 32 49 26

63 1827005914 47 9 16 10 75 16 45 59 30

80 1827005915 47 1 16 12 95 16 45 75 32

100 1827005916 57 11 20 12 115 20 55 90 37

4

o

EMERSON.



AVENTICS C12P RN F=H

26
2024-03-26

E= CM H14 D H13
125 1827005917 57 14 20 16 140 21 55 110 41
160 74727271428 72 18 25 20 180 25 65 140 55
200 7472771429 72 18 25 20 220 25 65 175 55

EMERSON.



AVENTICS C12P RN F=H 27
2024-03-26

UL Z %4 MP2, &% CM1
CNOMO / NFE 49-001

:314
25 8 CNOMO / NFE 49-001 |t R415024526
32 8 CNOMO / NFE 49-001 a¥ R415024527
40 12 CNOMO / NFE 49-001 L= R415024528
50 12 CNOMO / NFE 49-001 L= R415024529
63 16 CNOMO / NFE 49-001 L=k R415024530
80 16 CNOMO / NFE 49-001 L= R415024531
100 20 CNOMO / NFE 49-001 L= R415024532
125 20 CNOMO / NFE 49-001 = R415024533
160 25 CNOMO / NFE 49-001 aM R415024534
200 25 CNOMO / NFE 49-001 L= R415024535

EMERSON.



AVENTICS C12P RN F=H 28

2024-03-26
M
|
\
)
- = 7))
Y
Y
Y

i

Y
@ [mm] BT BU CG CH CM H14 D H13 G L M
25 R415024526 41 47 7.6 1.1 26 7 8 40 8
32 R415024527 46 53 7.6 1.1 26 7 8 45 8
40 R415024528 53 60 11.5 1.1 33 7 12 52 8
50 R415024529 66 73 11.5 1.1 33 9 12 65 10
63 R415024530 76 83 15.2 1.1 47 9 16 75 10
80 R415024531 96 103 15.2 1.1 47 1" 16 95 12
100 R415024532 17 124 19 1.3 57 11 20 115 12
125 R415024533 142 149 19 1.3 57 14 20 140 16
160 R415024534 182 189 23.9 1.3 72 18 25 180 20
200 R415024535 222 229 23.9 1.3 72 18 25 220 20

4

od

EMERSON.



AVENTICS C12P RN F=H

29
2024-03-26

@ [mm] R S TG z
25 8 25 28 18
32 8 25 33 18
40 12 32 40 24
50 12 32 49 26
63 16 45 59 30
80 16 45 75 32
100 20 55 90 37
125 21 55 110 41
160 25 65 140 55

200 25 65 175 55

EMERSON.



AVENTICS C12P RN F=H 30
2024-03-26

U L%EH MP2, &% CM1
CNOMO / NFE 49-001

:314
25 8 CNOMO / NFE 49-001 L= R415024536
32 8 CNOMO / NFE 49-001 L=k R415024537
40 12 CNOMO / NFE 49-001 L= R415024538
50 12 CNOMO / NFE 49-001 L= R415024539
63 16 CNOMO / NFE 49-001 BM R415024540
80 16 CNOMO / NFE 49-001 L= R415024541
100 20 CNOMO / NFE 49-001 L= R415024542
125 20 CNOMO / NFE 49-001 =) R415024543
160 25 CNOMO / NFE 49-001 aM R415024544
200 25 CNOMO / NFE 49-001 L= R415024545

EMERSON.



AVENTICS C12P RN F=H 31

2024-03-26
A
|
PE
Y
Y
- BU =
i /- /“\
L o
S | — g (1)
Y s Y )
___4CH
I BT -
B B . _H
- K - =E=
: F
I a ! \/ :
Tole] F
| I | I
<o 7T 2
L |
] |
D1
| - I -
&

EMERSON.



AVENTICS C12P REIRATSH 32
2024-03-26
@ [mm] A B BT (=]V] C CG CH CM H14 D H13

25 R415024536 40 25 41 47 28 7.6 1.1 26 7
32 R415024537 40 25 46 53 28 7.6 1.1 26 7
40 R415024538 52 32 53 60 38 1.5 1.1 33 7
50 R415024539 52 32 66 73 38 11.5 1.1 33 9
63 R415024540 75 46 76 83 54 15.2 1.1 47 9
80 R415024541 75 46 96 103 54 15.2 1.1 47 11
100 R415024542 115 56 117 124 90 19 1.3 57 1"
125 R415024543 115 56 142 149 90 19 1.3 57 14
160 R415024544 180 71 182 189 150 23.9 1.3 72 18
200 R415024545 180 7 222 229 150 23.9 1.3 72 18

25 8 7 8 18 16 26 - 40 28
32 8 7 8 18 16 26 - 45 8 33
40 10 9 12 26 24 38 16 52 12 40
50 10 9 12 26 24 38 16 65 12 49
63 12 11 16 34 36 52 25 75 16 59
80 12 11 16 34 36 52 25 95 16 75
100 16 14 20 41 40 61 32 115 20 90
125 16 14 20 41 40 61 32 140 21 110
160 20 18 25 55 50 80 43 180 25 140
200 20 18 25 55 50 80 43 220 25 175
25 18
32 18
40 24
50 26
63 30
80 32
100 37
125 41
160 55
200 55
4

EMERSON.



AVENTICS C12P RN F=H 33
2024-03-26

U L%EH MP2, &% CM1
CNOMO / NFE 49-001

:314
25 8 CNOMO / NFE 49-001 |t R415024546
32 8 CNOMO / NFE 49-001 a¥ R415024547
40 12 CNOMO / NFE 49-001 L= R415024548
50 12 CNOMO / NFE 49-001 L= R415024549
63 16 CNOMO / NFE 49-001 L=k R415024550
80 16 CNOMO / NFE 49-001 L= R415024551
100 20 CNOMO / NFE 49-001 L= R415024552
125 20 CNOMO / NFE 49-001 = R415024553
160 25 CNOMO / NFE 49-001 aM R415024554
200 25 CNOMO / NFE 49-001 L= R415024555

EMERSON.



34

2024-03-26

AVENTICS C12P RN F=H

A

A

Y

BU

BT

&
EMERSON

BG

P

BQ




AVENTICS C12P RN F=H

35
2024-03-26

@ [mm] A B BG BQ BT BU © CG CH
25 R415024546 32 20 20 41 47 76 1.1
32 R415024547 9 32 20 20 46 53 8 7.6 1.1
40 R415024548 14 45 32 32 53 60 10 11.5 1.1
50 R415024549 14 45 32 32 66 73 10 1.5 1.1
63 R415024550 14 63 50 50 76 83 13 15.2 1.1
80 R415024551 14 63 50 50 96 103 13 15.2 1.1
100 R415024552 22 90 70 70 17 124 17 19 1.3
125 R415024553 22 90 70 70 142 149 17 19 13
160 R415024554 26 140 110 110 182 189 20 23.9 1.3
200 R415024555 26 140 110 110 222 229 20 23.9 1.3

@ [mm] CM H14 D H13 G H L M \ o] Q R
25 26 7 8 37 40 8 25 41 7
32 26 7 8 37 45 8 25 41 7 8
40 33 7 12 54 52 8 32 52 9 12
50 33 9 12 54 65 10 32 52 9 12
63 47 9 16 75 75 10 40 63 1 16
80 47 1 16 75 95 12 40 63 1 16
100 57 1 20 103 115 12 50 80 14 20
125 57 14 20 103 140 16 50 80 14 21
160 72 18 25 154 180 20 63 111 18 25
200 72 18 25 154 220 20 63 111 18 25

@ [mm] S TG z
25 25 28 18
32 25 33 18
40 32 40 24
50 32 49 26
63 45 59 30
80 45 75 32
100 55 90 37
125 55 110 41
160 65 140 55
200 65 175 55

EMERSON.



AVENTICS C12P RN F=H 36
2024-03-26

BEE®R

CNOMO / NFE 49-001

:314
25,32 8 CNOMO / NFE 49-001 L= R422003607
40, 50 12 CNOMO / NFE 49-001 L=k R422003608
63, 80 16 CNOMO / NFE 49-001 L= R422003609
100, 125 20 CNOMO / NFE 49-001 L= R422003610
160, 200 25 CNOMO / NFE 49-001 BM R422003611
B H
D E

25, 32 R422003607 40 25 28 - 8 8 7 18 16
40, 50 R422003608 52 32 38 16 10 12 9 26 24
63, 80 R422003609 75 46 54 25 12 16 11 34 36
100,125 R422003610 115 56 90 32 16 20 14 41 40
160, 200 R422003611 180 71 150 43 20 25 18 55 50
25, 32 26
40, 50 38
63, 80 52
100,125 61
160, 200 80
4

EMERSON.



AVENTICS C12P RN F=H 37
2024-03-26

EMERSON.



AVENTICS C12P RN F=H 38
2024-03-26

T iR A% By 37

CNOMO / NFE 49-001

BEERE 9:314 3 eSS
[mm]
32 CNOMO / NFE 49-001 L= 5210163472
40 CNOMO / NFE 49-001 L=k 5210263472
50 CNOMO / NFE 49-001 L= 5210363472
63 CNOMO / NFE 49-001 L= 5210463472
80 CNOMO / NFE 49-001 L=k 5210563472
100 CNOMO / NFE 49-001 = 5210663472
125 CNOMO / NFE 49-001 L= 5210763472
XA
B H
D E

o

—

D

63 75 46 54 25 12 16 1" 34 36 52
80 75 46 54 25 12 16 1" 34 36 52
100 115 56 90 32 16 20 14 41 40 61
125 115 56 90 32 16 20 14 41 40 61

EMERSON.



AVENTICS C12P RN F=H

39
2024-03-26

EE-0 BT BU CG CH Gf7
32 46 53 7.6 1.1 8
40 53 60 1.5 1.1 12
50 66 73 11.5 1.1 12
63 76 83 15.2 1.1 16
80 96 103 15.2 1.1 16
100 117 124 19 1.3 20
125 142 149 19 1.3 20

1) &K

EMERSON.



AVENTICS C12P RN F=H

40

2024-03-26

W&, &3 CM1

25 10 4B 3671202000
32 12 84 3671203000
40, 50 16 484 3671204000
63, 80 20 484 3671206000
100, 125 25 484 3671210000
160, 200 32 8 3671216000
*
|
@ CR
[
| .
! [
= B R @HB B "L_
Ll_ B - g
p | / ! |
al T R R | . an
E 15 ! | 1 ! |
| | ‘ N | | | |
TH NH
UL
* S ERMPERT SR Y R KIRIE : £ 45°
EE-0 MRS @ CR H8 EA FA FK 0,1 FN HB NH TH UL
25 3671202000 10 16 10 21 29 55 10 27 37
32 3671203000 12 19 1 22 32 6.6 1 44 55
40, 50 3671204000 16 28 16 35 49 9 16 65 82
63, 80 3671206000 20 38 19 40 59 9 19 80 99
100, 125 3671210000 25 46 22 48 71 1 22 96 118
100 3671212000 30 56 28 57 88 13 28 114 142
160,200 | 3671216000 32 66 32 70 103 17 32 140 172
250,320 | 3671220000 35 66 32 70 103 17 32 140 172

Q

&

EMERSON.




AVENTICS C12P RN F=H 41

2024-03-26

& AT4, &5 CM1

ISO 15552

Y214
20, 25, 32 12 1SO 15552 o, 1827001603
40, 50 16 ISO 15552 W, W 1827001604
63, 80 20 1SO 15552 M, P 1827001605
100, 125 25 ISO 15552 E T 1827001606
160, 200 32 ISO 15552 B, B 1827001607
A-A
\ Z
i
x
©§ 4 8
N
LLE
Y F
| J |
\ [
T L7
| | (6]
r N N w
e T 1
EE-0 YRS UL NH TH C CR H9 HB H13 FN FK
20, 25, 32 1827001603 46 18 32 +0,2 10.5 12 6.6 30 15 +0,1
40, 50 1827001604 55 21 36 +0,2 12 16 9 36 18 £0,1
63, 80 1827001605 65 23 42 10,2 13 20 11 40 20 +0,1
100, 125 1827001606 75 28.5 50 +0,2 16 25 14 50 25 +0,1
160, 200 1827001607 92 40 60 +0,3 225 32 18 60 30 +0,2
250 1827001608 140 50 90 +0,3 27.5 40 22 70 35 0,2
320 R412018903 150 60 100 325 50 26 80 40

Q

&

EMERSON.



AVENTICS C12P RN F=H 42
2024-03-26

1212, AA4

CNOMO / NFE 49-001

79i:3(4
25 CNOMO / NFE 49-001 M, e R422003612
32 CNOMO / NFE 49-001 M, e R422003613
40 CNOMO / NFE 49-001 M, s it R422003614
50 CNOMO / NFE 49-001 M, iR B R422003615
63 CNOMO / NFE 49-001 M, e e R422003616
80 CNOMO / NFE 49-001 M, HEeE e R422003617
100 CNOMO / NFE 49-001 M, LR He R422003618
125 CNOMO / NFE 49-001 M, e R422003619
160 CNOMO / NFE 49-001 W, R wE R422003620
200 CNOMO / NFE 49-001 W, EE R422003621
BU

CH
BT

EE-O YRS BT BU CG CH Gf7
25 R422003612 41 47 7.6 1.1 8
32 R422003613 46 53 7.6 1.1 8
40 R422003614 53 60 11.5 1.1 12
50 R422003615 66 73 1.5 1.1 12
63 R422003616 76 83 15.2 1.1 16
80 R422003617 96 103 15.2 1.1 16
100 R422003618 17 124 19 1.3 20
125 R422003619 142 149 19 1.3 20
160 R422003620 182 189 23.9 1.3 25
200 R422003621 222 229 23.9 1.3 25

EMERSON.



AVENTICS C12P RN F=H 43
2024-03-26

EEXREHEF, RY MF1, MF2
CNOMO / NFE 49-001

25 i, e 1827005926
32 30 W, 1827005927
40 30 W, R 1827005928
50 30 W, K 1827005929
63 30 M, R 1827005930
80 30 o, dEe 1827005931
100 30 W, e 1827005932
125 30 W, 1827005933
160 30 o, REE 7472771408
200 30 W, PER 7472771409
&
AQ AS
i \
‘ o T o ®
1 ‘ |
é____’_-___él_)_-
\‘./
gl o l | Q| >
< = | |7 <] <
1 1 m
| iR N,
@ ——" S
] ‘ | o
| ‘ I =~
e O O =
1 ‘ [ r

L/E=50s AO H11 AP H13 AQ JS14 AT JS14

25 1827005926 25 9 28 40 8 68 80 7 28

EMERSON.



AVENTICS C12P RN F=H 44
2024-03-26

E= AO H11 AP H13 AQ JS14 AT JS14 R
32 1827005927 25 9 33 45 8 68 80 7 33
40 1827005928 32 9 40 52 8 78 90 7 40
50 1827005929 32 11 49 65 10 94 110 9 49
63 1827005930 45 11 59 75 10 104 120 9 59
80 1827005931 45 14 75 95 12 130 150 11 75
100 1827005932 55 14 90 115 12 150 170 11 90
125 1827005933 55 18 110 140 16 180 205 14 110
160 7472771408 65 22 140 180 20 228 260 18 140
200 7472271409 65 22 175 220 20 268 300 18 175

EMERSON.



AVENTICS C12P RN F=H 45
2024-03-26

HIEEERE, 3 MS1
CNOMO / NFE 49-001

¥R
25 CNOMO / NFE 49-001 iz 1827005870
32 CNOMO / NFE 49-001 At 1827005871
40 CNOMO / NFE 49-001 B4 1827005872
50 CNOMO / NFE 49-001 B 1827005873
63 CNOMO / NFE 49-001 B 1827005874
80 CNOMO / NFE 49-001 B4 1827005875
100 CNOMO / NFE 49-001 b7 1827005876
125 CNOMO / NFE 49-001 ik 1827005877
160 CNOMO / NFE 49-001 B 7472771483
200 CNOMO / NFE 49-001 B 74727271484
~ E
TG B
. o
O @ B
\ \
2o 1) A
I’J‘_\ e il é_ L IR =
"o | — aE
m‘ (I3 (@] ‘
- Z - . U
. Y -

EE-O RS B c D E F M 0 S TG

25 1827005870 8 58 7 40 30 50 9 25 28

32 1827005871 8 65 7 45 32 54 9 25 33

40 1827005872 8 72 7 52 36 62 9 32 40

50 1827005873 10 90 9 65 45 77 11 32 49

4

o

EMERSON.



AVENTICS C12P RN F=H

46
2024-03-26

EE-O E= B C D E F M o S TG
63 1827005874 10 100 9 75 50 87 1" 45 59
80 1827005875 12 126 1" 95 63 110 14 45 75
100 1827005876 12 148 11 115 73 130 14 55 90
125 1827005877 16 180 14 140 91 161 18 55 110
160 7472771483 20 230 18 180 115 205 22 65 140

200 7472771484 20 270 18 220 135 245 22 65 175

EE-0 u Y z
25 18 35 75
32 18 35 82
40 18 35 90
50 22 45 110
63 22 45 120
80 28 55 154
100 28 55 180
125 32 67.5 215
160 40 80 275

200 40 80 318

EMERSON.



AVENTICS C12P RN F=H 47
2024-03-26

HIEEERE, 3 MS1
CNOMO / NFE 49-001

EEER ¥R 3 L/ =acs
[mm]
25 CNOMO / NFE 49-001 irv) 1827005878
32 CNOMO / NFE 49-001 B 1827005879
40 CNOMO / NFE 49-001 B4 1827005880
50 CNOMO / NFE 49-001 B 1827005881
63 CNOMO / NFE 49-001 =) 1827005882
80 CNOMO / NFE 49-001 B4 1827005883
100 CNOMO / NFE 49-001 b7 1827005884
125 CNOMO / NFE 49-001 ik 1827005885
160 CNOMO / NFE 49-001 B 7472771418
200 CNOMO / NFE 49-001 B 747272721419
E
TG B
]
] -
9 & Y s T
| b -
m
i :
o_| |
U
- Y

EE-O nHS B c D E F M 0 S TG

25 1827005878 8 24 7 40 30 50 9 25 28

32 1827005879 8 28 7 45 32 54 9 25 33

40 1827005880 8 36 7 52 36 62 9 32 40

4

o

EMERSON.



AVENTICS C12P RN F=H

48
2024-03-26

50 1827005881 10 45 9 65 45 77 1" 32 49
63 1827005882 10 55 9 75 50 87 1" 45 59
80 1827005883 12 70 11 95 63 110 14 45 75
100 1827005884 12 90 1" 115 73 130 14 55 90
125 1827005885 16 110 14 140 91 161 18 55 110
160 7472771418 20 130 18 180 115 205 22 65 140
200 7472771419 20 170 18 220 135 245 22 65 175
EE-O u Y
25 27 35
32 27 35
40 27 35
50 35 45
63 35 45
80 43 55
100 43 55
125 52 68
160 62 82
200 62 92

EMERSON.



AVENTICS C12P RN F=H 49
2024-03-26

TEETUEEX, K5 AP2

EENTEETIRY
M10x1,5 M, ek 1827009940
M16x1,5 W, i 1827009941
M20x1,5 W, s 1827009942
M27x2 M, s 1827009943
M36x2 M, P 7472771444

CK

1
/; i V' Sy s o ]
-
m E TR E i [ S [
= |
7 7771 | —
1
N/ /L7 \
LE =
——— X
C -
1
|
| L
-
O — T - - 7 — T
1 |
|
|
1
|
KK es BL CE JCK e11 CL CM ER LE
M10x1,5 1827009940 28 36 8 22 11 9 16
M16x1,5 1827009941 44 51 12 26 18 13 25
M20x1,5 1827009942 53 63 16 34 22 17 33
M27x2 1827009943 76 85 20 44 30 20 30
M36x2 7472271444 93 115 25 56 40 25 40

EMERSON.



AVENTICS C12P RN F=H 50
2024-03-26

El#LAP6 , CM2 R 5

AR EETIRY RT3 T3 B -G
[mm]

M16x1,5 PRA, TRB, CCl, SSI, RPC, 16 W, e 1822124005

KPZ, 167, CVI, RDC, 102
M20x1,5 PRA, TRB, KPZ, 167, CVI, 20 M, 1822124006

102
M27x2 PRA, TRB, 167, CVI 30 o, R 1822124013
M36x2 ITS 35 W, R 1822124008

GCE

1 <
|
,l A \\
= 5 i ¥ \ LJE==F== N
——-— —_——t]——— -
e - 4( \ i ‘::: Fimee x
AN " 2
LF

AV

@ CN H7 EN-0,1

M4 1822124000 12 8 27 5 8 9 7.5 9 9

EMERSON.



AVENTICS C12P RN F=H

51
2024-03-26

KK E= AA AV min. CE @ CN H7 EN-0,1 ER EU max. LF SW
M6 1822124001 13 9 30 6 9 10 7.5 10 1"
M8 1822124002 16 12 36 8 12 12 9.5 12 14
M10 8958206402 19 20 43 10 14 14 10.5 13 17
M12 8958208852 22 22 50 12 16 16 12 16 19
M10x1,25 1822124003 19 15 43 10 14 14 11.5 14 17
M12x1,25 | 1822124004 22 18 50 12 16 16 12.5 16 19
M16x1,5 1822124005 27 24 64 16 21 21 15.5 21 22
M20x1,5 1822124006 34 30 77 20 25 25 18.5 25 30
M24x2 8958208002 42 36 94 25 31 30 23 30 36
M27x2 1822124013 50 45 110 30 37 35 27 35 41
M36x2 1822124008 60 56 125 35 43 40 32 40 50
M42x2 1822124009 69 60 142 40 49 455 37 45 55
M48x2 8958208842 75 65 160 50 60 58 45 60 65
KK Z [°] max.
M4 4
M6 4
M8 4
M10 6
M12 13
M10x1,25 4
M12x1,25 4
M16x1,5 4
M20x1,5 4
M24x2 15
M27x2 4
M36x2 4
M42x2 4
M48x2 6

EMERSON.



AVENTICS C12P RN F=H

52
2024-03-26

TREME

Uoles

EEHEETIRY
M10x1,5 4, e 7472775700
M10x1,5 M, g 7472271445
M16x1,5 i, R 7472771446
M20x1,5 W, 7472771447
M27x2 M, 7472771448
M36x2 o, e 7472771449
ER ER CB
x| © |
[T
_ Lo S _
© |
Sl
<
) ‘ % I
| ! 1
< y ! r
KK PR
A PSS TSN
|
KK MRS (%] A CA CB CD ER G
M10x1,5 74727221445 25 32 20 36 1 8 9
M16x1,5 74727221446 40 50 30 51 18 12 13 7
M20x1,5 7472221447 63 80 36 63 22 16 17 10
M27x2 74727221448 100 125 50 85 30 20 20 13
M36x2 74727221449 160 200 70 115 40 25 25 15

EMERSON.



AVENTICS C12P RN F=H 53
2024-03-26

SEEMTHY 828 MR9

YR H RS
M16x1,5 W, 1823300030
M20x1,5 W, i 8103040344
M27x2 W, s 1823A00029
M36x2 M, s 8103190414

Sube

< KV - - KW
KK Lk Sas] Y Kw
M4 1823300033 10 3.2
M6 1823300034 13 4
M8 1823A00021 19 6
M10 8103190344 19 6
M10x1,25 | 1823300030 24 8
M20x1,5 | 1823300031 30 10
M27x2 1823A00029 41 13.5
M36x2 8103190414 50 16
M42x2 8103190424 60 21
M6 8103190644 10 3.2
M8 8103190164 13 4
M10x1,25 | 8103190464 17 5
M4 3330310000 7 2.2

KK

EMERSON.




AVENTICS C12P RN F=H

54
2024-03-26

KK E= KV KW
M12x1,25 3590304000 19 6
M16x1,5 3590305000 24 8
M20x1,5 3590308000 30 10
M20x1,5 8103040344 30 10

M24x2 8103190394 36 12
M48x2 8103190434 65 25
M10x1,25 2990600303 17 5
M12x1,25 2990600304 19 6
M16x1,5 2990600305 24 8
M20x1,5 2990600308 30 10
M27x2 2990600312 41 13.5
M36x2 2990600316 50 16
M42x2 2990600325 60 21

4

od

EMERSON.



AVENTICS C12P RN F=H 55
2024-03-26

e Ri38, R% ST6

PRA
PRE
CClI

KPZ

SSi
GPC
CVI
LT B ED
CEIAIE

cULus

RoHS

UL (Underwriters Laboratories)

[0- BK L o
EERE R BANE  REE BEE BPNIE BRAIE BIDIHE IS
ATRY ARE FRF*X  REFx HBHEDC HEDC HEAC EAC,
B) , #) , [V DC] [V DC] [V AC] RAE
B, XHE, [V AC]
BAE. HAE
(Al [Al
PRA, EHAE REls 0.13 0.13 10 230 10 230 | RS 3 R412022866
PRE, #
CCl,
KPZ, SSI,
GPC, CVI
PRA, B REMHE 0.13 0.13 10 230 10 230 | RWMAR 5 R412027170
PRE, #
CCl,
KPZ, SSI,
GPC, CVI
PRA, EHR REE 0.3 0.5 10 30 10 30| RIRMEFR 3 R412022869
PRE, #
ccl,
KPZ, SSI,
GPC, CVI
PRA, EHA REf 0.3 0.5 10 30 10 30| MR 5 R412022870
PRE, #
ccl,
KPZ, SSI,
GPC, CVI
PRA, EHE REMHE 0.3 0.5 10 30 10 30| RS 10 R412022871
PRE, #
CCl,
KPZ, SSI,
GPC, CVI
PRA, | £F PNP RafE 0.13 10 30 HERRF, 3 R412022853
PRE, RARMAR
CCl, #
KPZ, SSI,
GPC, CcVI
PRA, | EF PNP REms 0.13 10 30 BRI, 5 R412022855
PRE, RRMER
ccl, i
KPZ, SSI,
GPC, CVI
PRA, | EF PNP Rafk 0.13 10 30 HERRP, 10 R412022857
PRE, RARMHEAR
CCl, #

EMERSON.



AVENTICS C12P RN F=H 56
2024-03-26

EERE W EE BAAE REBE HEE RNIE BRI SNIHFE IS

ATRY ARE RFFX  AREFFx HEDC HBHEDC HEAC EAC,
EBR) , EBR) , [V DC] [V DC] [V AC] BAE
ERE, XKL, [V AC]
BARE. HRKE
[A] [A]
KPZ, SSlI,
GPC, CVI
PRA, NPN R 0.13 10 30 ERRY, 3 R412022849
PRE, R
CCl, #
KPZ, SSlI,
GPC, CVI
PRA, NPN R 0.13 10 30 EERRT, 5 R412022850
PRE, AR MR
CCl, i
KPZ, SSlI,
GPC, CVI
g
5,7 29,5 L
4.8
: [—4* 2% 2.7
7 T ~——— BN
2 S — = BU
BK
X ;3 x 0,14 mm?2

1* =FF KR 2* = EER4 3* = LED B HEH
L=eB%KEBN={f® BK=26 BU=KE®
X=8BFRK:11.6 mm

R412022866, R412027170
A&

57 32,5 L

4,8
1* 2% 27
BN
21 | — Y ;qu_ _______ <
| BU
1.2 2x 0,14 mm2

30

1= FF R 2" = B ER4E 3* = LED & AIEH

EMERSON.



AVENTICS C12P RN F=H 57
2024-03-26

L = B4 KE BN=178, BU=EE &

EMERSON.



AVENTICS C12P RN F=H 58
2024-03-26

e Ri38, R% ST6

PRA
PRE

CcCl

KPZ

SSi

GPC
CVI

EZe PR
CEIAIE
cULus
RoHS
UL (Underwriters Laboratories)

3-8

EERE  EE BAAE  REHE HAEE RN IE BRI SNIHE IS

ATRH AHRE FFFx RFF*  HEDC ®BEDC HEAC FEAC,
B , B , [V DC] [V DC] [V AC] BAE
EfRE, fH, [V AC]
BAE HAE
[A] [A]
PRA, £/ REM 0.3 0.5 10 30 10 30| RWMR 0.3 R412022873
PRE, #
ccl,
KPZ, SSI,
GPC, CVI
PRA, ERE | RECH 0.3 0.5 10 30 10 30| RIRMER 0.3 R412022875
PRE, i
ccl,
KPZ, SSI,
GPC, CVI
PRA, EHA REF 0.3 0.5 10 30 10 30| RRMR 0.5 R412022874
PRE, i
ccl,
KPZ, SSI,
GPC, CVI
PRA, | £F PNP Rafk 0.13 10 30 ERRP, 0.3 R412022859
PRE, RIWMER
ccl, #
KPZ, SSI,
GPC, CVI
PRA, | BEF PNP | REZH 0.13 10 30 ERRP, 0.3 R412022862
PRE, AR
ccl, b
KPZ, SSI,
GPC, CVI
PRA, | EF PNP REf 0.13 10 30 EBRRP, 0.5 R412022861
PRE, RARMEAR
ccl, i
KPZ, SSI,
GPC, CVI
PRA, NPN Rafk 0.13 10 30 ERRP, 0.3 R412022852
PRE, R
ccl, #
KPZ, SSI,
GPC, CVI

EMERSON.



AVENTICS C12P RN F=H 59

2024-03-26
A%
29,5 L
5.7
2,7 36-41,5
4,8
F 1* 2*
: g | BE
X \
1* = FFR R 2% = B £ 3* = LED B OiEH
L=B%KE
X=8BFX :11,6mm, F% :83mm
R412022873, R412022875, R412022874, R412022859, R412022862, R412022861, R412022852
75 B M8x1 (=R IEK)
1 4 3
S

EMERSON.



AVENTICS C12P RN F=H 60
2024-03-26

& Rizs, R3 SM6

PRA
PRE
CcCl
KPZ
SSi
GPC
CcvI
cULus

BN
BK Ru

G
v/ D
1 D

~ = [~

B
2z
ol

| *

BETERATRY AR HYKE L BANESEE 2K LR
[m] [mm] [mm]

PRA, PRE, CCl, EE 2 32 45 | ERREP, RWMHR R412010141
KPZ, SSI, GPC, P, SHEERP

cVvI
PRA, PRE, CCl, EHE 2 64 77| ERAP, RWER R412010143
KPZ, SSI, GPC, P, IRRP

cVvI
PRA, PRE, CCl, EHE 2 96 109 | ‘EBRRY, RIMMR R412010262
KPZ, SSI, GPC, P, FERP

cvI
PRA, PRE, CCl, PCEVE - 2 128 141 | EBREP, RBMER R412010264
KPZ, SSI, GPC, P, IRFEP

cvI
PRA, PRE, CClI, EiE 2 160 173 | EERARY, RRMER R412010411
KPZ, SSI, GPC, P, SHERF

cVvI
PRA, PRE, CCl, EHE 2 192 205 | SERRARY, RIMMER R412010413
KPZ, SSI, GPC, P, FEHRP

cvI
PRA, PRE, CCl, 2 2 224 237 | BRI, KRR R412010415
KPZ, SSI, GPC, P, IERP

cvI
PRA, PRE, CClI, EiE 2 256 269 | AP, RIRMER R412010417
KPZ, SSI, GPC, P, SHEREP

cVvI

EMERSON.



AVENTICS C12P RN F=H 61

2024-03-26
A
1* 2% 3*
A L
= i
e ) b—— = — BK
@ BU
~63
24,2
371
[ — - F— '
N
) § 2
5,8
[[58]
13,6
1* = LED 4T 2* = ;REUREE 3* = 1RLUHH4T M3x11
L=sBHKE
(2) WH=B%&
A=fERBKE
&

EMERSON.



AVENTICS C12P RN F=H

62
2024-03-26

& Rizs, R3 SM6

PRA
PRE
CcCl
KPZ
SSi
GPC
CcvI
EZVS P
M8x1
cULus
4-8t

G 1 BN
U |/ D
1 | D

EEZERAT R

EESAR

BARKE L

[m]

RANEEHE

[mm]

£K ZRER

[mm]

PRA, PRE, CCl, EE 0.3 32 45 | ERREP, RWMHR R412010142
KPZ, SSI, GPC, P, SEERP

cVvI
PRA, PRE, CCl, EHE 0.3 64 77 | RARMERS, R R412010144
KPZ, SSI, GPC, ®Rip, IRFEP

cVvI
PRA, PRE, CCl, EHE 0.3 96 109 | RARMERY, R R412010263
KPz, SSI, GPC, ®Rip, TEHRP

cvI
PRA, PRE, CCl, PCEVE - 0.3 128 141 | RBERP, RWHE R412010265
KPZ, SSI, GPC, FiF, SHRRP

cvI
PRA, PRE, CClI, EiE 0.3 160 173 | RIRMERY, RRM® R412010410
KPZ, SSI, GPC, ®RIF, IHRHFEP

cVvI
PRA, PRE, CCl, EHE 0.3 192 205 | RRMRY, RIKME R412010412
KPz, SSI, GPC, ®Rip, TERP

cvI
PRA, PRE, CCl, 2 0.3 224 237 | RFHERY, RKHE R412010414
KPZ, SSI, GPC, Fip, SHRRP

cvI
PRA, PRE, CClI, EiE 0.3 256 269 | RIRMRF, RRM R412010416
KPZ, SSI, GPC, R, IHRFEP

cVvI

EMERSON.



AVENTICS C12P RN F=H

63
2024-03-26

M8x1

Mg
A L
—-%@—-@-—-— —— ==
© ~40
24,2
37,1
28,1
il P
© N
o) ] S| 3
w
5,8
13,6
1* = LED {T 2* = ¥ 3* = SREUBHET M3x11
L=sBRKE

BIBMEE : 1=(+), 2= (OUT 1) 3 = (GND), 4 = (OUT 2), EN 60947-5-7

A= fEBHEKE

2~ i —4
.

EMERSON.



AVENTICS C12P RN F=H

64
2024-03-26

e Ri3s, %5 SN6

Rk
BE Tl

EEAFNE HE R 2 [E B BRI TEBE
(FFxE (FF<E BEAC AC, BKX{E
W), BR W), TR [V AC] [V AC]
B, RAE B, KKE
[A] [A]
ELR 2-8t 3 3 10 48 10 48 8940410602
gEH 2-8t 0.5 0.5 10 48 10 48| RARMER 8940410612

EMERSON.



AVENTICS C12P RN F=H 65
2024-03-26

M

1.5

™
-y

10,4

|
1

1) BR =R
2 FER

EMERSON.



AVENTICS C12P RN F=H

66
2024-03-26

f& R8s, X% SN6
LN BHS WS

BYNE BSE [ BEE BNIHE BRAIHE BNIHE IS
# 8% ROFX  HKF>* ®HEDC ®BEDC H®HEAC FEAC,
B , B , [V DC] [V DC] [V AC] RAE
EfRE, RHE, [V AC]
BAE. HAE.
[A] [A]
ERE | REZHE 2-8 25 05 05 10 48 10 48 | RIRMER 8940412022
b
ERE | REZH 2-§t 6 0.5 0.5 10 48 10 48 | RIRMER 8940412032
i
£ | REZHE 2-§t 25 3 3 10 48 10 48 | RIRMSR 8940411902
b
ERH | REZF 2-8t 10 3 3 10 48 10 48 | RIRMER 8940411922
Ei

EMERSON.



AVENTICS C12P RN F=H 67
2024-03-26

POk
3*

g
i

A

1*

BN

23
|

NN 0
| | T

o 23 T, L -

1*=FFkR 2" = REEL 3* = LED
L = B4 KE BN=#:t, BU=EE&

\

EMERSON.



AVENTICS C12P RN F=H 68
2024-03-26

RRABRBEERE, 5 CB1

160 200 ST6, SN2, SN6, SN1, SM6 i) R412017979

1) &) ©2,50 Mar

1) RZIRL 2) R EBREEIRLT 3) HIAT 4) SEHE

SH o E=s A B C D E MA1 [Nm]
160 -
R412017979 16 51 36 6.8 36 2
200 mm
250 -
R412017980 24 56 445 6.8 36 2
320 mm

HENRTE - SFEEERE

EMERSON.



AVENTICS C12P RN F=H 69
2024-03-26

RRABRBEERE, 5 CB1

ST6
SM6
SN1
SN2

125 125 =) 1827020292

5)

4)

2) B9 O 3

P 4L MA1 [Nm]

1827020292 125 mm 12 45 29 6.5 21 M5x10 2

EMERSON.



AVENTICS C12P RN F=H 70
2024-03-26

RRABRBEERE, 5 CB1

ST6
SM6

32 40 88 1827020282
50 63 484 1827020283
80 100 B4 1827020284
- G -
F
5) s 3)

4) =

1) &) ©25 @Mm

2) o @@

1) BEREH 2 ) RRAREERT 3 ) AR 4) SE A 5) AT

E F R ZIRES MA1 [Nm]
1827020282 | 32 - 40 mm 26 10 7 14 5 8 40 M5x8 20,2
1827020283 | 50 - 63 mm 325 155 7 14 5 8 40 M5x10 2402
1827020284 | 80 - 100 mm 43 17 6.9 14 5 8 40 M5x16 2402

EMERSON.



AVENTICS C12P RN F=H

71

2024-03-26

RRABRBEERE, 5 CB1

SN6

32 63 iz 3220613562
80 125 At 3220643562
/\ - F =
1) £ 0250w o1
: |
I '@ @
= @
Y L'::::J' \)
: \
1) RERE
RS SHE o A B c D F G1 G2 MA1 [Nm]
3220643562 | 80 - 125 mm 35 22 21 12 23 M4 M5 1,8+0,4
3220613562 | 32-63 mm 35 22 21 16 23 M4 M5 1,8 +0,4

EMERSON.



AVENTICS C12P RN F=H 72
2024-03-26

[ 2 4d 3k, &% CON-RD

ELTEGPS
M8x1
3-8

FF

FEBRE  ®BIEHKE , ERE AR RIER
SR  MEBEHHN ERE
BNEE RAER [°C]
[mm] [mm]
48V AC/ 3-8 A-4RTE KRER 2% 4 35 5 -25 80 1834484173
DC

38,4
32,4

1834484173
R A

EMERSON.



AVENTICS C12P RN F=H 3
2024-03-26

[ 2 4d 3k, &% CON-RD

ELTEGPS
M8x1
3-8

FF

FEBRE  ®BIEHKE oy TR B, ERE AR RIER &R
BAE  HEHHN  HNEEH ERE EEE
[A] BNEE RAER [°C] [°C]
[mm] [mm]
48V AC/ 3-8 AR5 KRER jk: 4 35 5 -40 85 1834484174
DC
R~ #mm
ca. 28,0

|
M8x1
29,7
211,6

Lo}
N
! |
|
max.2 5,0
1834484174
1R 5 R AR
1
3 4

EMERSON.



AVENTICS C12P RN F=H 4
2024-03-26

B fz4d@k, &5 CON-RD

ELTEGPS
M8x1
3-8

MERE HBHR R BREER BSE BREERE BREER B4KE ®H4 2 SK&EEHE REF  &5H

[A] 1,68 51,18 1, mB 2 KB [m] BEZ-0 [mm? REE BRE
QR [mm] rcl rcl
48V AC/ 4| KREE|BEEL|  Mex1| ARE | FHRE 3 45 0.24 -25 85 1834484166
DC &
48V AC/ 4| KREWE| BEEL|  M8x1| AR | FHR® 5 45 0.24 -25 85 1834484168
DC ki
48V AC/ 4| KRB | BEEL|  M8x1| AR | FHR® 10 45 0.24 -25 85 1834484247
DC BRI
A
L
~40
LD“ 3+2
<
A &r
(< I
= X
2 gl Ll MM
S & =39
|
32
3x0,25mm?
L=kKE

1834484166, 1834484168, 1834484247
WA E R

3 4

(1)BN=#%f2 3 ) BU=E® (4)BK=E#&

EMERSON.



AVENTICS C12P RN F=H 5
2024-03-26

[ 2 4d 3k, &% CON-RD

ELIETES

FEBRE HBHRA Bk BAERE BRE BSEE BRERE B4KE B4 2 S4%EE REFR  H5H
[A] 1, K8 81,88 1, R/E 2 XkH [m] BER-QZ [mm3 EEE HEERE
QR [mm] [°C] [°C]
48 V AC/ 4| KRR | ZHEX M8x1 | A-4R%3 | FFA=X 3 45 0.24 -40 85 1834484167
DC S
48V AC/ 4| KRE| BHEKX M8x1| A-RRE | FHRE 5 45 0.24 -40 85 1834484169
DC HRE
48V AC/ 4| KRRE| BHEKL M8x1| A-4miG | FRKE 10 45 0.24 -40 85 1834484248
DC Hkin
Gk
@10
M8x1
i
W o 3x0,25mm?
<t
N Q \
[{o]
T v
L ___T____E_B_E____Jg_(gr_______
Y [
16 3*2 |
=200 ~40

EMERSON.



AVENTICS C12P RN F=H

76
2024-03-26

1834484167, 1834484169, 1834484248
R E AR

3 4

(1)BN=t% 3 ) BU=E® (4)BK=2f

EMERSON.



nh elisen: T 12

Efficient pneumatic solutions, our program:
cylinders and drives, valves and valve systems,
air supply management

Visit us: Emerson.com/Aventics
Your local contact: Emerson.com/contactus

Q, Emerson.com
ﬁ Facebook.com/EmersonAutomationSolutions
LinkedIn.com/company/Emerson-Automation-Solutions

pu—

"/ Twitter.com/EMR_Automation

An example configuration is depicted on the title page. The delivered product may thus vary from that in the illustration. Subject to change. This
Document, as well as the data, specifications and other information set forth in it, are the exclusive property of AVENTICS GmbH. It may not be
reproduced or given to third parties without its consent. Only use the AVENTICS products shown in industrial applications. Read the product
documentation completely and carefully before using the product. Observe the applicable regulations and laws of the respective country. When
integrating the product into applications, note the system manufacturer’s specifications for safe use of the product. The data specified only serve
todescribe the product. No statements concerning a certain condition or suitability for a certain application can be derived from our information
The information given does not release the user from the obligation of own judgment and verification. It must be remembered that the products
are subject to a natural process of wear and aging.

The Emerson logo is a trademark and service mark of Emerson Electric Co. Brand logotype are registered trademarks of one of the Emerson
family of companies. All other marks are the property of their respective owners. © 2019 Emerson Electric Co. All rights reserved.

EMERSON

CONSIDER IT SOLVED




